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(hwq. npud)
Onwgpuyhu Swph
nuupsp Ajnigtinught hwnjugnmdutiph
- % gfuwynnp Jupgunphsutinh, Uhongunnudubipp jumnwpnn yhnwwu dwpdhuutiph
% § bgluullrcjgiph, dhongwunmuutiph, nnuudwunph unnwugnn munbiuwywnpnn umpjtijnubph 8mguiuhputiph thnthnjfumpyniup
g =8 Jhu ninnnipjniuutinh wujwumdubinp (wyugmuutipp upguwod tu
£ é wiujwundubipp npujuiu wywuny)
=
££ mupwdpuyhu junwyjupdwiu b Gupwljunnmgjuoéputiph twjumpupnipmu 263,739.1
1004 Nnnguwt hudwljupgh wnnnowgnud 263,739.1
12003 Uswijgnieyniu nnnguiwu hwdw- L mwpwopwyhu junwywupdwu b Gupwunnigyudputiph 263.739.1
Jupgtinh hhduwunpngudwup uwumpupmpjuu opuwjhu Yndhwnbk T
wyn pYmd’ pun ninnnipgnitiutph
«@puny PRAL, wyy pymu’ 53,430.0
Uquunp gpwidpuph hunnwljuyhte gppnnh gpenn Yunngywdph
unnpypyu spwndwu hwugnygh dudwiwlwynp wugpwtinndw 5,500.0
wylummnuwiupubiph uwjuwgonid
Uquunh gpudpuph htintmuyghu gphtinh dwphy wwquiih ypupyws
Junmgyuwoéputinh yapwuwjuwgonid b vwfuwhwyhyutiph 3,960.0

wdpnnowljwu Yyapwhwyywunl




(Fuonnh opudipwph wy wthwhu (dnpdwt hwjudhjmpughnu
dhongunmuutiph hpwjuuwgdw twjuwgdwuwuwhwyyuyh 6,540.0
thwuwmwpnpetnh ypuuwjuwugdnmd

Uwpdwphyh spudpuph gpuiuphy-spotd hwugnygh
Ytpujunnigdwu bwjuwgowuwjuwhwyyuwyhu thwunwenetph 5,500.0
Juqunid

Uunipjuwuh opwdpwph nnngdwu oppnn junnigywdph
sppunmudwi hwugnygh b opdwphy- opodtid hnphg htimwgunn

d=5000ud junnnyuuywnh ypuljunnigdwu
twuugowtwjuwhwyyujhu thwumwpnetph Juqdmd

16,200.0

Uwwpwuh spwdpuph dupniduwght poiutih dbnwnyw
tptiuyuwunywoph Yhpwjuugudw btwuwgowuwjuwhwyuyhu 11,880.0
thwuwmwpnptph Jugdnid

Upunwywwnh spwugph hhduwunpngdwu wfuwmwuputinh

twumgowtwjuwhwyyujhtu thwumwpnetph Juqdmd 3,850.0

«Gplwtny ROL, wyn pymd’ 32,579.5

Uwuphw nuwm.u/g-h L=0.342 Yu LL-40 t/p Jupbph b 49879
huwpwuutiph unnigmu T

Chuquyhp nuwm.u/g-h L=0.120 Yu LM-40 t/p Juptph b

htwpwbph unmgnid 2,191.3

‘Ulinphu Quippwiju wmuwn.vw/g-h L=0.342 Yu L-40 &/p Juptiph b

hhuwpwuubph Junmgnid 4,987.2

Cunpwuwy wnuwm.u/g-h L=0.342 ju L-40 t/p Juptph b

hbuwpwubph unmgnid 4,987.2

Fuwpptinny UL w/gwugh L=0.66 Yu d=(57-159) Uu junnnyuljuywnh

Jtpuljunmgnud 4,998.9

g.Uuputh u/g-h L=0.162 Yu LM-60 t/p Jupliph b huwpwuubtph
Junmgmu

3,452.5




Upunwywwnh opwiugp 2-pn pudwuwpuph 1-hu ayninh unpngdwu

upfumnwiuputip ®315dd 168U 37528
Upunwywwnh opwiugp 2-pn pudwuwpuph 2-pn dninh unpngdw 39905
wpfumnwiuputip 315U 1444 T
«Upunuwyumny ROL, wyn pynid’ 4,771.0
‘Lupty hwdwyuph utinphu guugh d=159 Ud wnjhEphjtuwhu
funnnyuyny 9pwqgdh unpngnid 4,771.0
L=680 qo.u
«Eguhwdh» ROL, wyr pymd’ 38,019.1
Uywguw hwdwjuph d200 dd dbmwnulwu funnnjuyh wuglugnid

2,717.4
220 god
Ujgtipun hwdwjuph G/p LR 40 atmppipmd U Junmgnid 390 qod 4,963.3
Eouhwohu 2Juppung hwdwjuph d 250 Wl dbnmwnuijwu funnnjuyh

4,916.3
wmbinunpmu 350 qod
Cwhnujjw p/$-h 6/p LR40 atinpplipmud b Junmgmd 400 qod 4,930.8
CnJunwdtiy hudwjuph G/p LR 60 atmppipnid b Junmgmd 355 qou 4,313.9
“tnnu hudwjuph G/p LR60 atmppbpmd b junnignid 356 qou 4,549.6
Upwquwo hwdwyuph G/p LR 40 dtnpplipnud b junmgnud 200 god 2,447.0
Udptinn hwdwjuph 6/p LR 40 aunppbipnid b junnmgnid 390 qod 4,233.7
Nuithwwn hudwjuph G/p LR60 dtinpplipnud b junmgmud 355 qou 4,947.1
«Upwquonnuy ROL, wyn pymd’ 26,3324
UNh - 11 fnipujuiu - Ugupuy -Nutijugq - Nuijthwmn 14300
pwdwuwnpwph %+ - 700 Ud augnidwght junnpnjujh yhpujuugumd >
‘Unp Udwunuh 4} -4-4 pudwuwpwph pimnuh wmbqunpnid 2,040.3
‘Utinphu Afuqdwptinnh yndyuwuywuh %+ - 300 yu dndwu 17044
funnnyuywywph thnfjuwphunid 100 god o
N 17 pudwuwpuph %+ -250 u 200 qod vtn. funnnyuwyh 35701

wmbmwnpmd, L - 40 thnfuwphumd




Uwuniuhjh utipmumnbiuwghtt guug [+ - 5 pudwuwpunph 500 gou

opwqoh Yhpwunpngmu plimnuny 3,060.3
Ohwuwywuh Gupwwmwpwop (+ - 7 pudwuwpwunh L+ -40 Juptiph 2.945.0
thnfjuwuphunid 125 god b pimnuh nbinunpnid T
Nuytthwwnh N 2 funppuyht hnph unpngnid, 1 hwwn £84, - 12 - 160-100 4773.6
funppuwjhtt yndwh Juy., £ Bupwujuyuuh unpngmu ’
dwpwhh funppwjhu hnph unpngmy, 2 hwwn E84. - 12 - 160-100 3.038.0
funppuwjhtt yndwh Juy. unpngmd, k. Gupuljuywuuh unpngnid T
UNh - 1 pwdwuwpuph, 4+ - 500 dd dtwn. fjunnnuyh ntiqunpmd

3,570.6
100 god
«Ununuyp» ROL, wyn pYmd’ 22,823.4
‘Unp Gt ubipnun. hwdwlupgh unpngmud 4,959.9
Enyupnh ubipmum. hwdwljupgh unpngnid 4,334.0
Upglih Wbpumun. hwdwlwunpgh unpngmd 778.5
2nyniuphh ubipumumbiuwghu guwugh unpngmd 3,339.0
EnJupnh dwyp wnygh unpngnid 4,504.7
Cpwqnuu-Unjul spwiugp Lpugnuiu mbmudwuh 100, +-200 vd 4907 4
Ubnmwwuu fjunnnuljutiph thnfuwphunid unpny T
«Ftquppniuhp» ROL, wyn pymd’ 20,827.8
Uunnwanph oppunniuhy wjwquuh b wjhpuwuwymywu yuwnutiph 3.9643
Junmgnmu T
Oonyhuwp 9/4--h mwuhph ybpwunpngnid hgngudnyg 2,640.2
Upojwuhun 9/4--h unpngnud, 9ppunniihsh unpngnid 2,129.1
Cunyjwuh b Lmuwlniuph junppuwyht hnptinh wndwtinh

4,182.0
atmpptpmu b mbimunpmd
Lwugunpymph phy 3 fjunppuyht hnph opwigoh Jumnmgnud i wnuwgh 3.828.8
wmbmunpmu T
Uwpnijuwuh yndywluywuh dnintigunn opwugph hhduwunpngnud 4,083.4
«Surdnip» ROL, wyn pynd’ 33,022.5




«Up6hu-Cunn» 9/juyuiuh hhduwunpngnmd

3,156.9

«LupJup» 9/uywuh hhdiwunpngnid 4,872.4
‘Unytidptipyuuh pugquuumhawu N 3 9/juywuh hwdwlwnpgh

4,978.2
hhduwunpngnid
‘Unytidptippuuh pugquuumhawu N 4 9/4 6 44 k). uunigdwu qoh 4978
«JI9IT»-h hhduwunpngniud T
Ujqtianph gpudpwuph hupwhnu gpuiqoh dawfu Gymnh

1,698.3
hhduwunpngnid
Atippwpbtiph spwiugph hhduwunpnguwu wpluwmwupubn 4,098.4
Btipnhh opwugph hhduwunpngdwu wpjuwmwuputin 4,388.2
Ujgtianph dwyp opwugph 2htwiphh ymnh hhduwunpnguw

4,851.8
wyjuunwiupubin
«Lnnh» ROL, wyy pymy’ 20,653.7
buptwenip hwudwyuph dbg nymjinh unpngnud, d= 426 ud dtwn. 3.6714
funnnyuyh pugpuwyywo hwnmywdh thnfuwphunid unpny vnw. 84 qou T
2pupbiuh w/Y unpngm, d=275 Ud dtin. flunnnjwujhg funnigwd
qupnidwgh junnnjuljuywnh nuyunudhgywu puypwyywo hwnywoh 3,664.0
thnfuwphunmd unpny dnwn. 105 qou
‘Lwjpwunh ko spwugph Utd Mwpuhh mwupwoph Lppnuungh

2,363.7
pwdwuwpwph unpngnid
E). Uuppwynpnidutinh atmppbipmud 269.0
&nalju-1 yndywluywuh mwuhph hhduwunpngnd 4,079.9
Unnud-&najuu yndwyuwuwywuh unpngnid, 8’ 400-210 yndwh 10303
wyyudnumwdnid b hhduwunpngywdh mtiqunpnid T
Ujpnnud-&najuu yndwyuwwywuh unpngnid, D=530 ud 2533
Uniytuwwnnph unpngmd 4 huwn '
Ujpnud-&najun wndwywuwywuh tpupju nnutinh atnpptipnud b 336.6

nbinunpmu




Lnnm Uwyp opwiugph unpngmd, dwynp spwugph gjjuwdwuhg Ny 00-

AN 07 hmnywoh phiinuuyunmdwin wpjuwnmwupubin 4,985.6
«Bntiquuanny ROL, wyn pynud’ 972.9
fuldnpmunh w/Juywiuh wpphg nnipu tjwo 3k 90/85 wndwh b 50 972.9
Jyw hgqnpmpjudp L pupdhsh atmpphipmid,mtmunpnid '
«Uymuhp» R0C, wyn pymu’ 10,306.8
“wppwuh ntiphjwghw 1-hu hwnywoD=325ud funnnywlutiph 3.4835
thnfjuuphunid L=91d >
“wppwuh ntiphjwghw 2-pn hwnywoD=325uUd funnnyulutiph 3.920.1
hnfjuuphunid L=1024 T
‘Unuwanp 2w/ D=2194d fjunnnywljubiph Junmgnud L=120u 2,901.2
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